TRAILER

& CHASSIS EQUIPMENT

-

SPRINGS & SPARE
PARTS

* EYETO EYE SPRINGS
* OUTBACK SPRINGS
* PARABOLIC SPRINGS

<

« TANDEM ROCKER SPRINGS

« TANDEM ROCKER ROLLER
SPRINGS

* SPRINGS SPARE PARTS

X
" &

136 Port Wakefield Road, CAVAN SA 5094

Ph. 08 8262 7170 Fax. 08 8262 6123
www.satrailer.com.au




TRAILER

& CHASSIS EQUIPMENT

AK EYE TO EYE SPRING SETS

[ HANGER KIT ]

| 45MM x 8MM EYE to EYE SPRING SETS |

CARRYING

PART NO. DESCRIPTION CAPACITY FINISH A B C D
SET AK. 6L x 45mm x 8mm EYE to
SE456S EYE SPRINGS 1500KG BLACK 711mm 120mm 355mm 735mm
seasgs | OET AK.8Lx45mm x8mm EYE 1900KG BLACK | 71imm 120mm 355mm 735mm

to EYE SPRINGS

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au

PHONE: 08 8262 7170

FAX: 08 8262 6123



mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT EYE TO EYE SPRING SETS

1/2” AXLE FITTINGS ]

X2 X2 ﬁ oo
Lo
" oo
X6 ) X2

45MM EYE to EYE SPRING SETS

[ HANGER KIT ]
x4

PART NO. DESCRIPTION (éAAI;it:lll.\lrs FINISH

saseases | 0 oATEL SR EVE t 750KG

SASEA458S T SA;fEL;pf;:g; FYEto 950KG BLACK 716mm 145mm 367mm 722mm
SASE4510S SET SAT 10L x 45mm EYE to 1270KG

EYE SPRINGS

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER MARTINS EYE TO EYE SPRING SETS

& CHASSIS EQUIPMENT

[ AXLE FITTING ]
& s
X2

x2

x2

| 60MM x 8MM EYE TO EYE SPRING SETS |

CARRYING

PART NO. DESCRIPTION CAPACITY FINISH A(MM) B(MM) c(MMm) D(MM)

SET MT. 13L x 60mm x 8mm EYE
SM6013EES TO EYE SPRING 3000KG BLACK 900 470 130 465

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK PARABOLIC SPRINGS

I 45MM DACROMET PARABOLIC SPRING SETS I

CARRYING SPRING BUSH

PART NO. DESCRIPTION CAPACITY DIMENSIONS A(mm) B(mm) C(mm) D(mm) E(mm)

SET AK. 45mm x 13mm
SPBS600G PARABOLIC SPRING 600KG

SPBS1000G SET AK. 45mm x 15mm 1000KG 1/2” x7/8” x

PARABOLIC SPRING 45mm 755 150 350 690 710

SPBS1400G SET AK. 45mm x 18mm

PARABOLIC SPRING 1400kG

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

45MM DACROMET PARABOLIC SPRING ONLY I

CARRYING SPRING BUSH
PART NO. DESCRIPTION CAPACITY DIMENSIONS A(mm) B(mm) C(mm) D(mm) E mm)

AK. 45mm x 13mm
SPB600G PARABOLIC SPRING ONLY 300KG

SPB1000G AK. 45mm x 15mm 1/2” x 7/8” x
PARABOLIC SPRING ONLY S00KG 45mm 755 150 350 690 710
SPB1400G AK. 45mm x 18mm 700KG

PARABOLIC SPRING ONLY

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

LU0 K DUTBACK SPRINGS

| 5/8” AXLEFITTINGS |

[ HANGER KIT ]

S =
&

| 60MM BLACK OUTBACK SPRING SETS

SINGLE AXLE SET

CARRYING

PART NO. DESCRIPTION UP DIMENSION

CAPACITY  «p» o 10AD)

SET AK. 5L x 60mm x 7mm EYE TO
SOB5S EYE OUTBACK SPRING 1150KG 865/875mm 841mm 158mm 420mm

SET AK. 6L x 60mm x 7mm EYE TO
SOB6S EYE OUTBACK SPRING 1350KG 865/875mm 841mm 158mm 420mm

SET AK. 7L x 60mm x 7mm EYE TO
SOB7S EYE OUTBACK SPRING 1550KG 865/875mm 841mm 158mm 420mm

SET AK. 8L x 60mm x 7mm EYE TO
SOB8S EYE OUTBACK SPRING 1750KG 865/875mm 841mm 158mm 420mm

SET AK. 9L x 60mm x 7mm EYE TO
SOB9S EYE OUTBACK SPRING 2000KG 865/875mm 841mm 158mm 420mm

SET AK. 10L x 60mm x 7mm EYE
SOB10S TO EYE OUTBACK SPRING 2500KG 865/875mm 841mm 158mm 420mm

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 5/8” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK OUTBACK SPRING

HANGERKIT

60MM BLACK OUTBACK SINGLE
SPRING c/w HANGER KIT

SINGLE AXLE SET
PART NO. DESCRIPTION CC'AA':';\Q#\(; UP DIMENSION
“A” (NO LOAD)

AK. 5L x 60mm x 7mm EYE TO EYE
SOB5 OUTBACK SPRING ¢/w HANGER KIT 575KG 865/875mm 841mm 158mm 420mm

AK. 6L x 60mm x 7mm EYE TO EYE

SOB6 OUTBACK SPRING c/w HANGER KIT

675KG 865/875mm 841mm 158mm 420mm

AK. 7L x 60mm x 7mm EYE TO EYE

SOB7 OUTBACK SPRING c/w HANGER KIT

775KG 865/875mm 841mm 158mm 420mm

AK. 8L x 60mm x 7mm EYE TO EYE
SOBS8 OUTBACK SPRING ¢/w HANGER KIT 875KG 865/875mm 841mm 158mm 420mm

AK. 9L x 60mm x 7mm EYE TO EYE
SOB9 OUTBACK SPRING ¢/w HANGER KIT 1000KG 865/875mm 841mm 158mm 420mm

AK. 10L x 60mm x 7mm EYE TO EYE
SOB10 OUTBACK SPRING c/w HANGER KIT 1250KG 865/875mm 841mm 158mm 420mm

*PLEASE NOTE: SINGLE SPRING c/w HANGER KIT (NO AXLE FITTINGS)*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK SLIPPER SPRINGS

[ HANGER KIT ] [ 1/2” AXLE FITTINGS ]

éa

s
o= HHER

60MM x 6MM BLACK SLIPPER SPRING SETS

CARRYING SPRING BUSH

PART NO. DESCRIPTION CAPACITY DIMENSIONS A(mm) B(mm) C(mm) D(mm) E(mm)

SET AK. 6L x 60mm x 6mm
$5606S SLIPPER SPRING 3 1300kG

SS607S SET AK. 7L x 60mm x 6mm 5/8” x7/8” x
SLIPPER SPRING % 1400KG 60mm 765 150 330 700 730
S$S609S SET AK. 9L x 60mm x 6mm 1700KG

SLIPPER SPRINGX

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*
&PLEASE NOTE: SET OF 9L SLIPPER SPRING c¢/w HANGER KIT & 5/8” AXLE FITTINGS%

| 60MM x 6MM BLACK SLIPPER SPRING ONLY |

CARRYING SPRING BUSH
PART NO. DESCRIPTION CAPACITY DIMENSIONS A(mm) B(mm) C(mm) D(mm) E(mm)

AK. 6L x 60mm x 6mm
$5606 SLIPPER SPRING ONLY 650KG

S$S607 AK. 7L x 60mm x 6mm 5/8” x7/8” x
SLIPPER SPRING ONLY 700KG 60mm 765 150 330 700 730
SS609 AK. 9L x 60mm x 6mm 350KG

SLIPPER SPRING ONLY

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT SLIPPER SPRINGS

[ HANGER KIT ]

45MM BLACK SLIPPER SPRING SETS

[ 1/2” AXLE FITTINGS ]

PART NO. DESCRIPTION

SPRING BUSH
DIMENSIONS

CARRYING
CAPACITY

A(mm)  B(mm) C(mm)

D(mm) E(mm)

sAssas3s | SETSAT 3Ls>:) :Ishr:;m SLIPPER
sAssasas | SETSAT 4Ls>; :Ishr:;m SLIPPER
sassasss | SETSAT 5LS); 3?.32;"' SLIPPER
sassases | SETSAT 6LS); 3?.32;"' SLIPPER
sassasys | SETSAT 7LS); 3?.32;"' SLIPPER
sassasgs | SETSAT SLS); 3?.32;"' SLIPPER
sassasos |  SETSAT 9LS); 3?.32;"' SLIPPER

500KG

700KG

1000KG

7/8" x1/2" x

1120KG 765 155 330 700 725
45mm

1270KG

1375KG

1500KG

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au

PHONE: 08 8262 7170  FAX: 08 8262 6123



mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT SLIPPER SPRING

I 45MM BLACK SLIPPER SPRING ONLY I

SPRING BUSH CARRYING

PART NO. DESCRIPTION DIVENSIONS CAPACITY A(mm) B(mm) C(mm) D(mm)

SET SAT 3L x 45mm SLIPPER

SASS453 SPRING ONLY 250KG
SASS454 SET SAT 4LS); :Is&m SLIPPER 350KG
SASS455 SET SATS'E::‘N?EQ: LIPPER 500KG
SASS456 SET SATS'G,::‘N“G‘E"’S'TL: HPPER 7/ 8;;:4 2'x 560KG 765 155 330 700
SASS457 SET SATS;:I"N“G‘E"’S'TL: HPPER 635KG
SASS458 SET SATSﬁLRI"N‘g’mf”PPER 688KG
SASS45O SET SAT 9L x 45mm SLIPPER T50KG

SPRING ONLY

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT DAG SLIPPER SPRINGS

SPRING BUSH CARRYING

PART NO. DESCRIPTION DIMENSIONS CAPACITY A(mm) B(mm) C(mm) D(mm) E(mm)

SET SAT 3L x 45mm DAC
SASS453SG SLIPPER SPRING 500KG

SET SAT 4L x 45mm DAC
SASS454SG SLIPPER SPRING 700KG

SASS4555G SET :ﬁ;:é; :PSI;‘I‘,:I"GDAC 1000KG
7/8” x 1/2” x

765 155 330 700 725

45mm
SET SAT 6L x 45mm DAC
SASS456SG SLIPPER SPRING 1120KG

SET SAT 7L x 45mm DAC
SASS457SG SLIPPER SPRING 1270KG

SET SAT 9L x 45mm DAC
SASS459SG SLIPPER SPRING 1500KG

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, GALV HANGER KIT & GALV 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT DAC SLIPPER SPRING

I 45MM DACROMET SLIPPER SPRING ONLY I

SPRING BUSH CARRYING

PART NO. DESCRIPTION DIVENSIONS CAPACITY A(mm) B(mm) C(mm)  D(mm)

SET SAT 3L x 45mm DAC SLIPPER

SASS453G SPRING ONLY 500KG

SET SAT 4L x 45mm DAC SLIPPER
SASS454G SPRING ONLY 700KG
SASS455G SET SAT 5L x 45mm DAC SLIPPER 1000KG

SPRING ONLY 7/8” x 1/2” x
45mm 765 155 330 700

SET SAT 6L x 45mm DAC SLIPPER

SASS456G SPRING ONLY 1120KG

SET SAT 7L x 45mm DAC SLIPPER
SASS457G SPRING ONLY 1270KG

SET SAT 9L x 45mm DAC SLIPPER
SASS459G SPRING ONLY 1500KG

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT TANDEM SLIPPER SPRINGS

1/2” AXLE FITTINGS

45MM BLACK TANDEM SLIPPER SPRING SETS

SPRING BUSH CARRYING

PART NO. DESCRIPTION DIMENSIONS CAPACITY A(mm) B(mm) C(mm) D(mm) E(mm)
sAssTasas | SFT SA;L‘?;;‘E:SS’:QNTQNDEM 1000KG
sAsstasas | SFT SA;L‘I‘;;‘E:S;:QNTQNDEM 1400KG
sAssTasss | SET SA;L‘:'::E:F‘;‘,::NTQNDEM 2000KG
sassTases | SET SA;L?::E:F‘;;::NTQNDEM 7/ szgmlr{‘ 2'x 2240KG 765 155 330 700 707
sAsstaszs | SET SA;J::E:S;‘,::NTQNDEM 2540KG
sAssTasgs | SFV SA;L?::E:F‘;‘,::NTQNDEM 2750KG
sassTases | SETSATSLx45mm TANDEM 2000KG

SLIPPER SPRING

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

A oo

SAT DAC TANDEM SLIPPER SPRINGS

45MM DACROMET TANDEM SLIPPER SPRING SETS

SPRING BUSH CARRYING

PART NO. DESCRIPTION DIMENSIONS CAPACITY A(mm) B(mm) C(mm) D(mm) E(mm)

SET SAT 3L x 45mm DAC

SASST4535G TANDEM SLIPPER SPRING 1000KG
SET SAT 4L x 45mm DAC

SASST4545G TANDEM SLIPPER SPRING 1400KG
SET SAT 5L x 45mm DAC

SASST4555G TANDEM SLIPPER SPRING 7/8” x 1/2” x 2000kG

45mm 765 155 330 700 707

SET SAT 6L x 45mm DAC

SASST4565G TANDEM SLIPPER SPRING 2240KG
SET SAT 7L x 45mm DAC

SASST4575G TANDEM SLIPPER SPRING 2540KG

SASSTA595G SET SAT 9L x 45mm DAC 3000KG

TANDEM SLIPPER SPRING

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, GALV HANGER KIT & GALV 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK TANDEM ROCKER SPRINGS

HANGER KIT ] 1/2” AXLE FITTING ]

x4‘

60MM x 6MM BLACK TANDEM ROCKER SPRING SETS

PART NO. DESCRIPTION Cc‘:';:\gl':g Almm]l | B(mom) | ctmmil | [ b{mm] ?:r:)z E(mm)
SR606-14S iiLg'é'MSLR’;?('::S"‘,zmz 3000KG 700 120 386 1650 825 893
SRG07-145 | T o RockeR spRING | 3400KS

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK TANDEM ROCKER ROLLER SPRINGS

60MM x 6MM BLACK TANDEM ROCKER ROLLER SPRING SETS |

CARRYING E1=E2
(mm)

PART NO. DESCRIPTION CAPACITY A(mm) B(mm) C(mm) D(mm) E(mm)

F(mm)

SET AK. 5L x 60mm x 6mm
SRR605-14S TANDEM ROCKER ROLLER 1900-2200KG
SPRING*

SET AK. 6L x 60mm x 6mm
SRR606-14S TANDEM ROCKER ROLLER 2210-2500KG 396 291
SPRING*

785

SET AK. 7L x 60mm x 6mm
SRR607-14S TANDEM ROCKER ROLLER 2600-3000KG
SPRING*

687 117 1574 787

SET AK. 6L x 60mm x 6mm
SRR606-16S TANDEM ROCKER ROLLER 2900-3200KG
SPRING*

SET AK. 7L x 60mm x 6mm
SRR607-16S TANDEM ROCKER ROLLER 3250-4200KG 343 343 888
SPRING*

SET AK. 8L x 60mm x 6mm
SRR608-16S TANDEM ROCKER ROLLER 3800-4490KG
SPRING&

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS, HANGER KIT & 1/2” AXLE FITTINGS*
x PLEASE NOTE: SET OF 8L TDM R/ROLLER SPRINGS c¢/w HANGER KIT & 5/8” AXLE FITTIN§56S a

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SAT TANDEM ROCKER ROLLER SPRINGS

[ AXLE FITTING ]

—

60MM x 6MM & 7MM uﬂp
TANDEM ROCKER ROLLER

SPRING SETS . -un
CARRYING

PART NO. DESCRIPTION CAPACITY A(mm) B(mm) C(mm) D(mm) E(mm)

E1=E2

T F(mm)

SET SAT 5L x 60mm x 6mm
SASRR605-14S TANDEM ROCKER ROLLER 2000KG
SPRING (14”) *

SET SAT 6L x 60mm x 6mm
SASRR606-14S TANDEM ROCKER ROLLER 2500KG
SPRING (14”) *

695 395 290 795

SET SAT 7L x 60mm x 6mm
SASRR607-14S TANDEM ROCKER ROLLER 3000KG
SPRING (14”) *

SET SAT 8L x 60mm x 6mm
SASRR608-14S TANDEM ROCKER ROLLER 4000KG
SPRING (14”) *

102 1584 795
SET SAT 6L x 60mm x 7mm

SASRR606-16S TANDEM ROCKER ROLLER 2500KG
SPRING (16”) *

SET SAT 7L x 60mm x 7mm
SASRR607-16S TANDEM ROCKER ROLLER 3000KG
SPRING (16”) *

690 345 360 920
SET SAT 8L x 60mm x 7mm

SASRR608-16S | TANDEM ROCKER ROLLER 4000KG
SPRING (16”) 3

SET SAT 9L x 60mm x 7mm
SASRR609-165 | TANDEM ROCKER ROLLER 4500KG
SPRING (16”) }|

*PLEASE NOTE: SET OF SPRINGS INC. SPRINGS c¢/w HANGER & 1/2” AXLE FITTINGS*
A PLEASE NOTE: SET OF 8L & 9L (16”) TDM R/ROLLER SPRINGS c/w HANGER & 5/8” AXLE FITTINGS & 17

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

AK SPRING SPARE PARTS

590630

FRONT HANGER TO

SPRING

SUIT 60MM OUTBACK |

590631

REAR HANGER TO
SUIT 60MM OUTBACK
SPRING

576302

FRONT HANGER & REAR
HANGER TO SUIT 60MM
T/R/R SPRING
(SUIT 16MM DRY PIN)

AK CENTRE ROCKER POST
ONLY SUIT 18MM PIN &

590703

T/R SPRING

576305

AK CENTRE ROLLER ROCKER
POST ONLY SUIT 18MM PIN
& T/R/R SPRING

590705

AK ROCKER ARM ONLY
SUIT 60MM SPRING &

18MM PIN

576303

AK ROLLER ROCKER ARM
ONLY SUIT 60MM SPRING
& 18MM PIN

Ty

’) (ROUND HEAD)
. 590711/12
AK 18MM x 100MM GREASER

PIN c/w NYLOC NUT TO SUIT
T/R SPRING

e

’)

590707/8

AK M16MM x 100MM DRY
SHACKLE PIN & NYLOC NUT
TO SUIT T/R SPRING

) (HEX HEAD)

576306/12

AK M18MM x 97MM CENTER
GREASER PIN c/w NYLOC NUT TO
SUIT T/R/R SPRING

(HEX HEAD & 45-DEGREE NIPPLE)

576304/590708

AK M16 GREASER PIN &
NYLOC NUT TO SUIT T/R/R

SPRING

(STRAIGHT NIPPLE)

590632/708

AK M16 x 100MM GREASER
PIN c/w NYLOC NUT TO
SUIT OUTBACK SPRING

18

ENQUIRIES TO: EMAIL: sales@satrailer.com.au

PHONE: 08 8262 7170

FAX: 08 8262 6123


mailto:sales@satrailer.com.au

G

TRAILER

& CHASSIS EQUIPMENT

AK SPRING SPARE PARTS

590633

STEEL BUSH TO SUIT
60MM OUTBACK
SPRING

576301

ROCKER ROLLER
BUSH

590003

16MM x 22MM x
60MM NYLON BUSH
TO SUITT/R & T/R/R

SPRING
AK FISHPLATE, SHACKLE PLATE & AXLE PAD
590713 ‘ 590516 0 590420
FLAT AXLE PAD SMM SLOTTED FISHPLATE
SHACKLE PLATE ONLY SUIT 2 10MM 60MM x 45 & 50MM

TO 60MM OUTBACK T/R
SPRING & 16 MM PIN

AK U-BOLTS, NUT & WASHER

1
~

592506

5/8” U-BOLT c¢/w NW SUIT 50
SQUARE (170MM LONG)

592455

5/8” U-BOLT c/w NW SUIT 45
SQUARE (160MM LONG)

AK SET OF U-BOLTS cs-w NW, AXLE PAD & FISHPLATES

597120

SET OF 5/8” U-BOLT c/w NW AXLE
PAD & FISHPLATE SUIT 50 SQUARE

X2

597115

SET OF 5/8” U-BOLT c/w NW AXLE
PAD & FISHPLATE SUIT 45 SQUARE

ENQUIRIES TO: EMAIL: sales@satrailer.com.au

PHONE: 08 8262 7170

FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SHACKLE PLATES, PIN & ROCKER ARM

SHACKLE PLATES

SURFACE

PART NO. DESCRIPTION FINISH D
SP12 SHACKLE PLATE BLACK 1/2” 65MM
SP58 SHACKLE PLATE BLACK 5/8” 66MM
SP916 SHACKLE PLATE BLACK 9/16” 66MM
rD
'
—“—F— : e e
SURFACE
PART NO. DESCRIPTION FINISH D L
SP58334 SHACKLE PIN & NYLON NUT BLACK 5/8” 3.3/4”
701160 SHACKLE PIN & NYLON NUT BLACK 5/8” 4
SP9163 SHACKLE PIN & NYLON NUT BLACK 9/16” 3
701150 SHACKLE PIN & NYLON NUT BLACK 9/16” 3.1/2”

{ ]

| | 1

ROCKER ARM “ © o ©
D

SURFACE
FINISH

PART NO. DESCRIPTION

XARS0 ROCKER ARM BLACK 155MM 23MM 17MM 23MM

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

FRONT, REAR & LONG CENTRE HANGERS

& CHASSIS EQUIPMENT
REAR HANGERS
RHA45P RH45PG SAT9060
REAR SPRING P S REAR SPRING L REAR SPRING
HANGER ' ! HANGER GALV HANGER STD.
EYE & EYE

(45MM PARABOLIC)

(45MM PARABOLIC)

(45MM X 9/16")

RH45

REAR SPRING
HANGER STD
(45MM SLIPPER)

RH45G

REAR SPRING
HANGER STD GALV
(45MM SLIPPER)

LONG CENTRE HANGERS

LCH

LONG CENTRE
HANGER [1/2"]

LCHG

GALV. LONG CENTRE
HANGER [1/2"]

FRONT HANGERS

FH4512

FRONT SPRING
HANGER STD
[1/2" X 45MM]

”

FH4512G

FRONT SPRING
HANGER GALV STD
[1/2" X 45MM]

ENQUIRIES TO: EMAIL: sales@satrailer.com.au

PHONE: 08 8262 7170

FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

GREASER PINS & NUTS

B :

GREASER PIN ¢/w NYLON NUT ) “

SURFACE

PART NO. DESCRIPTION FINISH D
GP34312 GREASER PIN & NYLON NUT BLACK 3/4” 3.1/2
GP34334 GREASER PIN & NYLON NUT BLACK 3/4” 3.3/4”
GP344 GREASER PIN & NYLON NUT BLACK 3/4” 4”
GP34412 GREASER PIN & NYLON NUT BLACK 3/4” 4.1/2”
701142 GREASER PIN & NYLON NUT BLACK 5/8” 3.1/2”
701162 GREASER PIN & NYLON NUT BLACK 5/8” 4”
GP58314 GREASER PIN & NYLON NUT BLACK 5/8” 3.1/4”
GP58412 GREASER PIN & NYLON NUT BLACK 5/8” 4.1/2”
701140 GREASER PIN & NYLON NUT BLACK 9/16” 3.1/2”
GP916314 GREASERPIN & NYLON NUT BLACK 9/16” 3.1/4”
GP916334 GREASER PIN & NYLON NUT BLACK 9/16” 3.3/4”
GP9164 GREASER PIN & NYLON NUT BLACK 9/16” 4”7
¢

GREASE NIPPLE § “
Comsmmmy £

PART NO. DESCRIPTION

H29 GREASE NIPPLE

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

U-BOLTS

Bl
)

SQUARE BLACK U-BOLT ¢/w A =
NUTS & WASHERS SQUARE U-BOLT

w

AXLE SECTION U BOLT LENGTH NORMAL THREAD

PART NO. et i e THREAD TYPE “T”
UB40355Q 40MM 3.1/2”/89MM 50MM 1/2” BSW BLACK
UB4045SQ 40MM 4.1/2” [115MM 50MM 1/2” BSW BLACK
UB4055Q 40MM 5”/127MM 50MM 1/2” BSW BLACK
UB40555Q 40MM 5.1/2”/140MM 50MM 1/2” BSW BLACK
UB45355Q 45MM 3.1/2”/89MM 50MM 1/2” BSW BLACK
UB45455Q 45MM 4.1/2” {115MM 50MM 1/2” BSW BLACK
UB4555Q 45MM 5”/127MM 50MM 1/2” BSW BLACK
UB45555Q 45MM 5.1/2”/140MM 50MM 1/2” BSW BLACK
UB4565Q 45MM 6”/153MM 50MM 1/2” BSW BLACK
UB50455Q 50MM 4.1/2” /115MM 50MM 1/2” BSW BLACK
UB5055Q 50MM 5”/127MM 50MM 1/2” BSW BLACK
UB5055SQ 50MM 5.1/2” /140MM 50MM 1/2” BSW BLACK
UB5065Q 50MM 6”/165MM 50MM 1/2” BSW BLACK
UB5065SQ 50MM 6.1/2”/153MM 50MM 1/2” BSW BLACK

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

U-BOLTS

ROUND BLACK U-BOLT ¢/w 3 &
NUTS & WASHERS ROUND U-BOLT !

R
(=3

AXLE SECTION U BOLT LENGTH NORMAL THREAD

PART NO. o e e THREAD TYPE “T” FINISH
UB3935RD 39MM 3.1/2”/89MM 50MM 1/2” BSW BLACK
UB394RD 39MM 4”/115MM 50MM 1/2” BSW BLACK
UB3945RD 39MM 4.1/2”/102MM 50MM 1/2” BSW BLACK
UB395RD 39MM 5”/127MM 50MM 1/2” BSW BLACK
UB3955RD 39MM 5.1/2”/140MM 50MM 1/2” BSW BLACK
UB5045RD 50MM 4.1/2”[115MM 50MM 1/2” BSW BLACK
UB505RD 50MM 5”/127MM 50MM 1/2” BSW BLACK
UB5055RD 50MM 5.1/2”/140MM 50MM 1/2” BSW BLACK
UB506RD 50MM 6”/153MM 50MM 1/2” BSW BLACK

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

U-BOLTS

Bl
)

SQUARE GALVANISED O O ;
U-BOLT c/-w NUTS & WASHERS | SQUARE U-BOLT

w

AXLE SECTION U BOLT LENGTH NORMAL THREAD

PART NO. o e e THREAD TYPE “T” FINISH
UBG4035SQ 40MM 3.1/2”/89MM 50MM 1/2” BSW GALVANISED
UBG40455Q 40MM 4.1/2” [115MM 50MM 1/2” BSW GALVANISED

UBG405SQ 40MM 5”/127MM 50MM 1/2” BSW GALVANISED
UBG40555Q 40MM 5.1/2”/140MM 50MM 1/2” BSW GALVANISED
UBG4535SQ 45MM 3.1/2”/89MM 50MM 1/2” BSW GALVANISED
UBG4545SQ 45MM 4.1/2”/115MM 50MM 1/2” BSW GALVANISED

UBG4555Q 45MM 5”/127MM 50MM 1/2” BSW GALVANISED
UBG45555Q 45MM 5.1/2”/140MM 50MM 1/2” BSW GALVANISED
UBG5035SQ 50MM 3.1/2“/89MM 50MM 1/2” BSW GALVANISED
UBG50455Q 50MM 4.1/2” [115MM 50MM 1/2” BSW GALVANISED

UBG505SQ 50MM 5”/127MM 50MM 1/2” BSW GALVANISED
UBG50555Q 50MM 5.1/2“/140MM 50MM 1/2” BSW GALVANISED

UBG506SQ 50MM 6”/153MM 50MM 1/2” BSW GALVANISED

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER
& CHASSIS EQUIPMENT L-BOLTS

ROUND GALVANISED ~ :
U-BOLT c¢/w NUTS & WASHERS ROUND U-BOLT T

R
(=3

AXLE SECTION U BOLT LENGTH NORMAL THREAD

PART NO. o e e THREAD TYPE “T” FINISH
UBG3935RD 39MM 3.1/2”/89MM 50MM 1/2” BSW GALVANISED
UBG3945RD 39MM 4.1/2” [115MM 50MM 1/2” BSW GALVANISED

UBG395RD 39MM 5”/127MM 50MM 1/2” BSW GALVANISED
UBG3955RD 39MM 5.1/2”/140MM 50MM 1/2” BSW GALVANISED
UBG4535RD 45MM 3.1/2”/89MM 50MM 1/2” BSW GALVANISED
UBG4545RD 45MM 4.1/2/115MM 50MM 1/2” BSW GALVANISED

UBG455RD 45MM 5”/127MM 50MM 1/2” BSW GALVANISED
UBG4555RD 45MM 5.1/2”/140MM 50MM 1/2” BSW GALVANISED
UBG5045RD 50MM 4.1/2”/115MM 50MM 1/2” BSW GALVANISED

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

AL LN SET OF U-BOLTS

x2

FISHPLATE
x2

4 AXLE PAD

SET OF SQUARE BLACK U-BOLT
c/w NUTS, WASHERS.
FISHPLATES & AXLE PADS

PART NO. DESCRIPTION

UB40SS SET 40MM SQ U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS

UBS40S60 SET STD 40MM SQ U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60MM FISHPLATES)
UB45SS SET 45MM SQ U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS

UBS45S58 SET 45MM SQ x 5/8" U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (H/D FISHPLATES)

UBS45S60 SET STD 45MM SQ U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60mm FISHPLATES)

UBS50S58 SET 50MM SQ x 5/8" U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (H/D FISHPLATES)

UBS50S60 SET STD 50MM SQ U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60MM FISHPLATES)
UB50SS SET 50MM SQ U-BOLTS c¢/w NUTS, WASHERS, FISHPLATES & AXLE PADS

UBS63S63 SET 635Q x 5/8" UBOLT ¢/w NUTS, WASHERS, FISHPLATES & AXLE PADS (63MM FISHPLATES)

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SET OF U-BOLTS

FISHPLATE

SET OF SQUARE GALVANISED
U-BOLT ¢/w NUTS, WASHERS,
FISHPLATES & AXLE PADS

: 4 AXLE PAD _——7 B

SQUARE U-BOLTS

PART NO. DESCRIPTION

UB40SSG SET 40MM SQ GALV U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS

UB45SSG SET 45MM SQ GALV U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS

UB50SSG SET 50MM SQ GALV U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS
UBS45S60G i:;,&san:fsqu&ﬁlé\é)s-r[) U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS
UBS50S60G (S:J“Z&MFI:::gLiﬁé:) STD U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

& CHASSIS EQUIPMENT

SET OF U-BOLTS

x2

FISHPLATE

x2 | "
= = ]

L | vaors |
PART NO. DESCRIPTION

SET OF ROUND BLACK U-BOLT
c/w NUTS, WASHERS,
FISHPLATE & AXLE PADS

UBS39R60 SET STD 39MM RND U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60MM FISHPLATES)
UBS45R60 SET STD 45MM RND U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60MM FISHPLATES)
UBS50R60 SET STD 50MM RND U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS (60MM FISHPLATES)

SET OF ROUND GALVANISED
U-BOLT c/w NUTS, WASHERS,

FISHPLATES & AXLE PADS ] maeeno ,—Rm

PART NO. DESCRIPTION

R / FISHPLATE
2

UBS45R60G SET GALV STD 45MM RND U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS
(60MM FISHPLATES)

SET GALV STD 50MM RND U-BOLTS c/w NUTS, WASHERS, FISHPLATES & AXLE PADS
UBS50R60G (60MM FISHPLATES)

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER

FISH PLATES & AXLE PADS

& CHASSIS EQUIPMENT
- Ry B
1 | / o N
T
FISH PLATES (PUNCHED HOLE) H P D

SURFACE

PART NO. DESCRIPTION EINISH A(MM) B(MM) D(MM) T(MM)
FP3945 FISH PLATE BLACK 39 45 16 8
FP3960 FISH PLATE BLACK 39 60 16 7
FP4560 FISH PLATE BLACK 45 60 21 8
FP5045 FISH PLATE BLACK 50 45 17 8
FP5060 FISH PLATE BLACK 50 60 16 8

FP3945G FISH PLATE GALV 39 45 15 7

FP5045G FISH PLATE GALV 50 45 19 8

|
& o

]|

PART NO. DESCRIPTION SEITinQSE W(MM) L(MM) D(MM) T(MM)
AP1 AXLE PAD BLACK 40 85 16 7
APF FLAT AXLE PAD BLACK a5 75 18 8

AP1G AXLE PAD GALV 40 85 16 7
APFG FLAT AXLE PAD GALV a5 75 18 8

ENQUIRIES TO: EMAIL: sales@satrailer.com.au :08 82627170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER SPARE PARTS

& CHASSIS EQUIPMENT .
|

-

FRONT BOLTS & NUTS c-w WASHERS

PART NO. DESCRIPTION FINISH
FBNW FRONT BOLT c/w NUT WASHER (3.1/2” x 1/2") ZINC
FBNWG FRONT BOLT GALV c/w NUT WASHER (3.1/2” x 1/2") GALV

WHIT BOLTS ¢/w NUTS )

PART NO. DESCRIPTION FINISH
BN1.5/12 1.1/2” x 1/2” WHIT BOLT c¢/w NUT ZINC
BN4.5/12 4.1/2 x 1/2” WHIT BOLT c/w NUT ZINC

NUTS & SPRING WASHERS

PART NO. DESCRIPTION FINISH
29 1/2” HEX NUT ONLY ZINC
SWASS12 1/2” SPRING WASHER ZINC
SWASS38 3/8” SPRING WASHER ZINC
SWASS716 7/16” SPRING WASHER ZINC
29G 1/2” GALV HEX NUT ONLY GALV
SWASS12G 1/2” GALV SPRING WASHER GALV
SWASS38G 3/8” GALV SPRING WASHER GALV
SWASS716G 7/16” GALV SPRING WASHER GALV

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER SPRING NYLON BUSHES

& CHASSIS EQUIPMENT
L

PART NO. DESCRIPTION S::JII:\IFIQSE oD ID L(MM)
NB1 NYLON BUSH BLACK 3/4” 1/2” 45MM
NB2 NYLON BUSH BLACK 7/8” 1/2” 45MM

IES1057/2 NYLON BUSH (SUIT R/R) BLACK 5/8” 1.1/4” 60MM

NB34916 NYLON BUSH BLACK 9/16” 3/4” 45MM

NB785860 NYLON BUSH BLACK 7/8” 5/8” 60MM

NB78916 NYLON BUSH BLACK 9/16” 7/8” 45MM

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER B PACKS OF BLISHES

& CHASSIS EQUIPMENT

L

SURFACE

PART NO. DESCRIPTION FINISH oD ID
NB1PK2 PACK OF 2 NYLON BUSH BLACK 3/4” 1/2” 45MM
NB1PK4 PACK OF 4 NYLON BUSH BLACK 3/4” 1/2” 45MM
NB2PK2 PACK OF 2 NYLON BUSH BLACK 7/8” 1/2” 45MM
NB2PK4 PACK OF 4 NYLON BUSH BLACK 7/8” 1/2” 45MM
IES1057/2PK2 PACK OF 2 NYLON BUSH (SUIT R/R) BLACK 5/8” 1.1/4” 60MM
IES1057/2PK4 PACK OF 4 NYLON BUSH (SUIT R/R) BLACK 5/8” 1.1/4” 60MM
NB34916PK2 PACK OF 2 NYLON BUSH BLACK 9/16” 3/4” 45MM
NB34916PK6 PACK OF 6 NYLON BUSH BLACK 9/16” 3/4” 45MM
NB785860PK2 PACK OF 2 NYLON BUSH BLACK 7/8” 5/8” 60MM
NB785860PK6 PACK OF 6 NYLON BUSH BLACK 7/8” 5/8” 60MM
NB78916PK2 PACK OF 2 NYLON BUSH BLACK 9/16” 7/8” 45MM
NB78916PK6 PACK OF 6 NYLON BUSH BLACK 9/16” 7/8” 45MM
PART NO. DESCRIPTION SEIT“I:?:E oD ID L(MM)
576301PK2 PACK OF 2 STEEL BUSH (SUIT R/R) BLACK 5/8” 1.1/4” 60MM
576301PK4 PACK OF 4 STEEL BUSH (SUIT R/R) BLACK 5/8” 1.1/4” 60MM

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

TRAILER = P T
& CHASSIS EQUIPMENT
(Wriowsusmes cwreonsory (|

PART NO. DESCRIPTION

NBP3412FB/2 PACK OF 2 — 3/4” NYLON BUSHES & 1/2” F/BOLTS
NBP3412FB/4 PACK OF 4 — 3/4” NYLON BUSHES & 1/2” F/BOLTS
NBP7812FB/2 PACK OF 2 — 7/8” NYLON BUSHES & 1/2” F/BOLTS
NBP7812FB/4 PACK OF 4 — 7/8” NYLON BUSHES & 1/2” F/BOLTS

NYLON BUSHES OR STEEL c/w
GREASER PINS

PART NO. DESCRIPTION

NBP58RDP/4 PACK OF 4 - NYLON ROLLER BUSHES & 5/8" DRY PINS
SBP58GP/4 PACK OF 4 — STEEL BUSHES & 5/8” G/PINS
SBP58RGP/4 PACK OF 4 — STEEL ROLLER BUSHES & 5/8” G/PINS

NYLON BUSHES c/w DRY PINS

PART NO. DESCRIPTION
NBP58RDP/4 PACK OF 4 — NYLON ROLLER BUSHES & 5/8” DRY PINS
NBP7858DP/4 PACK OF 4 —7/8” NYLON BUSHES & 5/8” DRY PINS

ENQUIRIES TO: EMAIL: sales@satrailer.com.au = PHONE: 08 8262 7170  FAX: 08 8262 6123


mailto:sales@satrailer.com.au

	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34

